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O CpublictvoidimyModulelnit(ManagerCmgr)[{
O O [PropertiesCprop[=Cnew[Properties(Sensor.component_conf);
O O Imgr.registerFactory(prop,Lnew[Sensor(),Lnew(Sensor());

O O [System.out.printin("1");

0 O [//0 Createld ald component

O O [RTObject_implLscompl=Cmgr.createComponent("Sensor");
O O lif(tscomp==null)[{

O O O OSystem.err.printin("Componentd create faile);."

O O O OSystem.exit(0);

oogooo

O O [System.out.printin("2");

O O [RTC.RTObjectlsrtc[=[scomp.getObjRef();

O O [System.out.printin("3");

0O O I//0 Create[] alJd component

O O [RTObject_implLccompl=Cmgr.createComponent("Controller");
O O Lif(Cccomp==nullD)[{

O O O OSystem.err.printin("ComponentO create[ faile);."

0 O O OSystem.exit(0);

oogooo

O O [System.out.printin("4");

O O [RTC.RTObjectlcrtc[=Lccomp.getObjRef();

O O [System.out.printin("5");

0 0O [//0 Createld ald component

O O [RTObject_implCmcomp[=Cmgr.createComponent("Motor");
O O Lif(tmcomp==nullD)[{

O O O OSystem.err.printin("ComponentO create faile);."

0 O O OSystem.exit(0);

oogoog

O O [System.out.printIn("6");

O O [RTC.RTObjectlmrtc[=lmcomp.getObjRef();

O O [System.out.printin("7");
0O O [ExecutionContextListHolderleclistl=[new[ExecutionContextListHolder();
O O leclist.valuel=0srtc.get_owned_contexts();

O O [System.out.printIn("8");

O O leclist.value[0].add_component(crtc);
O O [System.out.printin("9");

2025/05/03 1/3



http://www.openrtm.org/redmine/issues/3704

O O [eclist.value[0].add_component(mrtc);
O O [System.out.printin("10");

O O [eclist.value[0].activate_component(mrtc);
O O [System.out.printin("11");

O O [eclist.value[0].activate_component(crtc);
O O [System.out.printIin("12");

O O [eclist.value[0].activate_component(srtc);
O O [System.out.printIin("13");
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eclist.valuel=[srtc.get_owned_contexts();
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System.out.printin("8");
eclist.value[0].add_component(crtc);
System.out.printin("9");
eclist.value[0].add_component(mrtc);
System.out.printin("10");
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eclist.value[0].activate_component(mrtc);
System.out.printin("11");
eclist.value[0].activate_component(crtc);
System.out.printin(*12");
eclist.value[O].activate_component(srtc);
System.out.printin(*13");
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try{
0 LThread.sleep(3000);
Jcatch(InterruptedExceptionle){}

System.out.printin(*14");

LifeCycleStatelstate;
state[=[eclist.value[0].get_component_state(crtc);
if[(state[==[LifeCycleState. ACTIVE_STATE)[{

O CSystem.out.printin("Controllerd isC) ACTIVE_STAT)="

}
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System.out.printin(*15");
state[=[eclist.value[0].get_component_state(mrtc);
if[(state[==[LifeCycleState. ACTIVE_STATE)[{

0 CSystem.out.printin("Motor isO ACTIVE_STAT);:="

}
System.out.printin("16");
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